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1.Which of the following is NOT a valid objective of testing? 
A. Preventing defects from being introduced into the code 
B. Investigating and fixing defects in the software under test 
C. Gaining confidence that the system is fit-for-purpose 
D. Providing information for stakeholders' decision making 
Answer: D 
 
2.During which stage of the fundamental test process is the testability of requirements evaluated? 
A. Test Implementation and Execution 
B. Test Planning and Control 
C. Evaluating Exit Criteria and Reporting 
D. Test Analysis and Design 
Answer: D 
 
3.A new testing tool has been selected for an organization and a pilot project has successfully completed. 
The next step is to deploy the tool within the organization. 
What is a key success factor in tool deployment? 
A. Estimate a cost-benefit ratio based on a firm business case. 
B. Determine whether benefits will be achieved at reasonable cost. 
C. Provide support for the test team using the tool. 
D. Assessment of organizational maturity, strengths and weaknesses. 
Answer: A 
 
4.Which of the following represents good testing practice for testers, irrespective of the software lifecycle 
model used? 
A. They should start test analysis when the corresponding development level is complete. 
B. They should be involved in reviewing requirements or user stories as soon as drafts are available. 
C. They should ensure that the same test objectives apply to each test level. 
D. They should minimize the ratio of development levels to test levels to reduce project costs. 
Answer: D 
 
5.А system is being enhanced to simplify screen navigation for users. 
Which of the following does NOT reflect structural testing? 
A. To test all paths that users could take through the screen menu system 
B. To ensure that 100% decision testing is achieved for each system component 
C. To test all branches of component calls within the application call graph 
D. To ensure that users can navigate to all fields on the screen 
Answer: C 
 
 


